
1- Find VA and VB using Node-Voltage method in the given circuit.

a) 2.5V, 3.6V
b) 2.87V, 3.25V
c) 2.65V, 3.47V
d) 3.15V, 2.76V

2- Find V3 in the circuit given below

a) 4.833V
b) 2.616V
c) -4.833V
d) -2.616V



4- What is the voltage at 2nd terminal in the given circuit?

a) 132.57V
b) 154.16V
c) 173.25V
d) 123.57V

5- Find the current flowing through 3Ω resistor in the given circuit.

a) 2.57A
b) 3.64A
c) 4.78A
d) 5.89A

6- Calculate the current flowing through 10Ω resistor in the circuit shown below

a) ±0.345A
b) ±0.985A
c) 1.217A
d) 2.782A



7- Find the power delivered by the voltage source in the network given below.

a) 65Watts
b) 72Watts
c) 63Watts
d) 76Watts

8- Find the value of VX in the circuit given below.

a) –16.8A
b) +16.8A
c) -4.8A
d) +4.8A


